Question #0
Alpha Ciphering

National Convention 2012
What is the period of the function? 
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Alpha Ciphering

National Convention 2012
What is the area of the 
triangle formed by the foci 
and any endpoint of either 
latus rectum for the following conic?
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How many odd numbers between 550 and 800 can be formed using only the digits            
 4, 5,6,7,8 and 9?  
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An isosceles triangle has a perimeter of 50. 
The sum of the length of the base and the 
height is 31. What is the sum of all the 
possible values for the height of this triangle?
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Three dice are thrown. 
What is the probability that two or more of the dice show the same number?
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